ID:1210 P- 1

P g SR
2 W B #E7E Boal R
By 3% 04412 H 16 H eI Dt e/ 82 kv (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]
X R & JE 10. 00| AHxf 165 1, 650 864 532 324
w5 | 1000 Mkt 120 1,200 ge4| s8] 648
EAS £ % 10. 00 | #856f 184 1,840 1,350 1,214 486
e & | 1000 FER| | 710] 1,188 1,008 1,02
R M5 5. 00| FHxf 21 105| 3,456| 2,705 864
H X /S 15. 00| AHxf 200 3, 000 972 735 626
EISEaNe) L JE 12. 00 | ¥ 886 10, 632 975 431 173
1T NAEL w5 4. 00 | FH%f 50 200 1, 620
H % o e 3. 00 | FHxt 184 552 1,890 1,286 540
5 A [ I 1. 00| AH%t 210 210 540 429 216
ENIE s.00[ A%t 25| 125| 2,430 1,804| 1,620
A 5 2. 00 [ FH %} 30 60| 1,080 1,026 756
[ 1N 5 5. 00| FA%f 444 2,220 2,214 1,924 1,404
(= JEE I 2. 00| FH%f 12 24| 2,160| 2,120 1,917
A—=T 4 AbiEiE 10. 00| AHxf 410 4,100 1,728 1,209 864
B OF g, 10. 00| AHxf 293 2,930 2,916 2,595| 1,836
£ A b 20. 00 | AH%t 1 20 2, 160
wo | 10000\ fxk| 250 2,500] 2,160| 1,968 1,728
LA A o 10. 00 | #85f 365 3,650 2,376| 2,106 1,080
P=—lH A & ] 4. 00| FHxf 285 1,140 1,512 978 540
Tayal— (r— 6. 00 | FA%f 107 642 2,570 2,093| 1,080
= 1| .00 Fxt| 4] 71 R 20,160
AEHEE w5 0. 10| #Hxf | 2,300 230 173 123 65
ZDXH E % 0. 20 | FH %} 1,410 282 86 72 24
LU 5 % 0. 20| FA%F 300 60 96 86 85




ID:1210 p- 2

P g SR
2 W B #E7E Boal R
Rz 04412 H 16 H eI Dt e/ 54 k> (Biir)
fn 4 JE Hit = (Mo | E=E e T fE g2y ]

38 Foak L 10. 00 | #H%F 519 5,190| 3,780 2,539 1,814
AR Foak L 10. 00| AHxf 63 630| 4,672| 3,713] 1,335
Avavs 74 V¥ | 13.00] fH%E 19 247  3,024| 1,842 594
bHFEED @ [ 0. 27| FAx%F 1, 320 356 810 681 572
S X EF I 0. 25| A%} 2, 355 594 810 525 324
BHDY S 5 0.25| #Hxf | 3,126 782 702 483 356




